SMO6EE FFRFMmIIaZT 4 HETETILHERHERESE
(3A31A}K)
HIRX EFHO<K W EEHES
XA (B : M)
I5H HY)FHEHE REER =8
1 e 6,707,000 6,707,000 0
HRfT e 6,707,000 6,707,000 0
2 FINA 24,318 78,109 53,791
HEHF 18 1,509 1,491
A - ARV FELE 24,300 30,200 5,900
HEA 0 46,400 46,400
3 e 170,682 170,682 0
oy 170,682 170,682 0
ARG 6,902,000 6,955,791 53,791
X
I5H HYFHEHEA REER =8

A b YFHEEE 2,002,000 1,963,468 38,532
Al o< Y 2p& 758,000 793,611 A 35,611
M TR B R 105,000 54,454 50,546
ELBEERE 155,000 108,311 46,689
SNB W REE 212,000 263,406 A 51,406
HU AR LR 206,000 292,600 A 86,600
FHEN/ N A v EifE AR 3 80,000 74,840 5,160
A2 fEEREHEERS 252,000 208,531 43,469
FECXESRE 152,000 58,178 93,822
S E L EERE 100,000 150,353 A 50,353
A3 4EBIERES 842,000 840,774 1,226
El IS 742,000 645,000 97,000
SRS PEGE = 100,000 195,774 A 95,774
A4 EEREE 150,000 120,552 29,448
EHREE 150,000 120,552 29,448
B & 100,000 100,000 0
Bl Eu® 100,000 100,000 0
B3 - BHICATEA R 50,000 50,000 0
By - EEEA 50,000 50,000 0
C HPEEHAEEE 500,000 151,320 348,680
Cl BHIBAT R B HEE 200,000 0 200,000
HEhS 200,000 0 200,000
C2 HETEEE 300,000 151,320 148,680
s 300,000 151,320 148,680
D =ERIEBREEEZ 4,300,000 4,696,106 A 396,106
D1 #¥% 295,000 283,291 11,709
HERBRE 265,000 262,332 2,668
HENR IR 30,000 20,959 9,041
D2 &% 1,680,000 1,960,000 A 280,000
B4 - Ha 1,680,000 1,960,000 A 280,000
D3 #REM 295,000 290,000 5,000
==L 295,000 290,000 5,000
D4 ERE 420,000 439,703 A 19,703
EE R 105,000 68,925 36,075
EHERE - ST A —T VAT v — VR 85,000 93,535 A 8,535
Sk 50,000 73,160 A 23,160
FIRISUA 2 30,000 24,778 5,222
KEkE - BRE 108,000 149,445 A 41,445
KEKE - Bk 24,000 20,880 3,120
KoK E - A RK 18,000 8,980 9,020




D5 ¥ & 217,000 335,312 A 118,312
BIEERE - BEBFHL 90,000 93,000 A 3,000
BIEEMRE - BXK 10,000 24,326 A 14,326
FHE - fRA 2,000 1,540 460
FHEL 5,000 52,000 A\ 47,000
REREL 110,000 164,446 A\ 54,446

D6 fERR KRV ERER 1,290,000 1,327,800 A 37,800
(Ef=E 1,090,000 1,087,560 2,440
fERF 200,000 240,240 A 40,240

D7 & 3,000 1,320 1,680
BRFE 3,000 0 3,000
RS 0 1,320 A 1,320

D8 &it# 50,000 45,480 4,520
ErETR 50,000 45,480 4,520

D9 fEmiBAE 50,000 0 50,000
=N 50,000 0 50,000

D10 IHHERE 0 13,200 A 13,200
THEFEE - HEHES 0 13,200 A 13,200

XA 6,902,000 6,910,894 A 8,894

IRAEE 6,955,791

XHAE 6,910,894

=8 44,897




